
1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1) 8 4  +  4 7  = 1 3 1

2) 2 1 3  +  9  = 2 2 2

3) 1 3 2  +  6 1  = 1 9 3

4) 9 7 2  +  6 4 1  = 1 , 6 1 3

5) 2 , 6 8 6  +  7  = 2 , 6 9 3

6) 8 , 7 8 0  +  6 5  = 8 , 8 4 5

7) 7 , 3 5 0  +  6 9 7  = 8 , 0 4 7

8) 4 , 3 8 7  +  4 , 3 5 7  = 8 , 7 4 4

9) 2 3  +  1  = 2 4

10) 7 7  +  3 4  = 1 1 1

11) 4 6 3  +  6  = 4 6 9

12) 8 1 6  +  1 4  = 8 3 0

1. 131

2. 222

3. 193

4. 1,613

5. 2,693

6. 8,845

7. 8,047

8. 8,744

9. 24

10. 111

11. 469

12. 830

     

Solve each problem.

Addition (Horizontal)
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1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1) 8 4  +  4 7  = 1 3 1

2) 2 1 3  +  9  = 2 2 2

3) 1 3 2  +  6 1  = 1 9 3

4) 9 7 2  +  6 4 1  = 1 , 6 1 3

5) 2 , 6 8 6  +  7  = 2 , 6 9 3

6) 8 , 7 8 0  +  6 5  = 8 , 8 4 5

7) 7 , 3 5 0  +  6 9 7  = 8 , 0 4 7

8) 4 , 3 8 7  +  4 , 3 5 7  = 8 , 7 4 4

9) 2 3  +  1  = 2 4

10) 7 7  +  3 4  = 1 1 1

11) 4 6 3  +  6  = 4 6 9

12) 8 1 6  +  1 4  = 8 3 0

1. 131

2. 222

3. 193

4. 1,613

5. 2,693

6. 8,845

7. 8,047

8. 8,744

9. 24

10. 111

11. 469

12. 830

     

Solve each problem.

Addition (Horizontal)
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Answer Key



Modified 1-10 90 80 70 60 50 40 30 20 10 0

1) 8 4  +  4 7  = 1 3 1

2) 2 1 3  +  9  = 2 2 2

3) 1 3 2  +  6 1  = 1 9 3

4) 9 7 2  +  6 4 1  = 1 , 6 1 3

5) 2 , 6 8 6  +  7  = 2 , 6 9 3

6) 8 , 7 8 0  +  6 5  = 8 , 8 4 5

7) 7 , 3 5 0  +  6 9 7  = 8 , 0 4 7

8) 4 , 3 8 7  +  4 , 3 5 7  = 8 , 7 4 4

9) 2 3  +  1  = 2 4

10) 7 7  +  3 4  = 1 1 1

8,047 111 24 8,845 1,613

8,744 131 222 193 2,693

1. 131

2. 222

3. 193

4. 1,613

5. 2,693

6. 8,845

7. 8,047

8. 8,744

9. 24

10. 111

     

Solve each problem.

Addition (Horizontal)
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1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1) 9 2  +  5 7  = 1 4 9

2) 6 8 9  +  9  = 6 9 8

3) 9 2 9  +  5 9  = 9 8 8

4) 3 4 9  +  1 8 4  = 5 3 3

5) 8 , 7 2 2  +  3  = 8 , 7 2 5

6) 5 , 2 9 8  +  9 3  = 5 , 3 9 1

7) 9 , 7 2 3  +  4 4 1  = 1 0 , 1 6 4

8) 6 , 3 3 1  +  5 , 4 1 8  = 1 1 , 7 4 9

9) 3 4  +  2  = 3 6

10) 7 2  +  3 0  = 1 0 2

11) 7 5 7  +  6  = 7 6 3

12) 9 3 2  +  8 6  = 1 , 0 1 8

1. 149

2. 698

3. 988

4. 533

5. 8,725

6. 5,391

7. 10,164

8. 11,749

9. 36

10. 102

11. 763

12. 1,018

     

Solve each problem.

Addition (Horizontal)
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1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1) 9 2  +  5 7  = 1 4 9

2) 6 8 9  +  9  = 6 9 8

3) 9 2 9  +  5 9  = 9 8 8

4) 3 4 9  +  1 8 4  = 5 3 3

5) 8 , 7 2 2  +  3  = 8 , 7 2 5

6) 5 , 2 9 8  +  9 3  = 5 , 3 9 1

7) 9 , 7 2 3  +  4 4 1  = 1 0 , 1 6 4

8) 6 , 3 3 1  +  5 , 4 1 8  = 1 1 , 7 4 9

9) 3 4  +  2  = 3 6

10) 7 2  +  3 0  = 1 0 2

11) 7 5 7  +  6  = 7 6 3

12) 9 3 2  +  8 6  = 1 , 0 1 8

1. 149

2. 698

3. 988

4. 533

5. 8,725

6. 5,391

7. 10,164

8. 11,749

9. 36

10. 102

11. 763

12. 1,018

     

Solve each problem.

Addition (Horizontal)
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Modified 1-10 90 80 70 60 50 40 30 20 10 0

1) 9 2  +  5 7  = 1 4 9

2) 6 8 9  +  9  = 6 9 8

3) 9 2 9  +  5 9  = 9 8 8

4) 3 4 9  +  1 8 4  = 5 3 3

5) 8 , 7 2 2  +  3  = 8 , 7 2 5

6) 5 , 2 9 8  +  9 3  = 5 , 3 9 1

7) 9 , 7 2 3  +  4 4 1  = 1 0 , 1 6 4

8) 6 , 3 3 1  +  5 , 4 1 8  = 1 1 , 7 4 9

9) 3 4  +  2  = 3 6

10) 7 2  +  3 0  = 1 0 2

988 8,725 5,391 149 533

11,749 10,164 698 36 102

1. 149

2. 698

3. 988

4. 533

5. 8,725

6. 5,391

7. 10,164

8. 11,749

9. 36

10. 102

     

Solve each problem.

Addition (Horizontal)
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1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1) 8 1  +  5 3  = 1 3 4

2) 1 8 0  +  2  = 1 8 2

3) 3 7 1  +  2 0  = 3 9 1

4) 6 3 8  +  2 7 8  = 9 1 6

5) 5 , 8 5 1  +  8  = 5 , 8 5 9

6) 2 , 0 7 1  +  3 8  = 2 , 1 0 9

7) 2 , 9 5 3  +  5 6 9  = 3 , 5 2 2

8) 7 , 3 8 7  +  3 , 8 8 7  = 1 1 , 2 7 4

9) 9 6  +  3  = 9 9

10) 7 4  +  4 3  = 1 1 7

11) 4 3 6  +  1  = 4 3 7

12) 3 4 6  +  3 6  = 3 8 2

1. 134

2. 182

3. 391

4. 916

5. 5,859

6. 2,109

7. 3,522

8. 11,274

9. 99

10. 117

11. 437

12. 382

     

Solve each problem.

Addition (Horizontal)
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1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1) 8 1  +  5 3  = 1 3 4

2) 1 8 0  +  2  = 1 8 2

3) 3 7 1  +  2 0  = 3 9 1

4) 6 3 8  +  2 7 8  = 9 1 6

5) 5 , 8 5 1  +  8  = 5 , 8 5 9

6) 2 , 0 7 1  +  3 8  = 2 , 1 0 9

7) 2 , 9 5 3  +  5 6 9  = 3 , 5 2 2

8) 7 , 3 8 7  +  3 , 8 8 7  = 1 1 , 2 7 4

9) 9 6  +  3  = 9 9

10) 7 4  +  4 3  = 1 1 7

11) 4 3 6  +  1  = 4 3 7

12) 3 4 6  +  3 6  = 3 8 2

1. 134

2. 182

3. 391

4. 916

5. 5,859

6. 2,109

7. 3,522

8. 11,274

9. 99

10. 117

11. 437

12. 382

     

Solve each problem.

Addition (Horizontal)
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Modified 1-10 90 80 70 60 50 40 30 20 10 0

1) 8 1  +  5 3  = 1 3 4

2) 1 8 0  +  2  = 1 8 2

3) 3 7 1  +  2 0  = 3 9 1

4) 6 3 8  +  2 7 8  = 9 1 6

5) 5 , 8 5 1  +  8  = 5 , 8 5 9

6) 2 , 0 7 1  +  3 8  = 2 , 1 0 9

7) 2 , 9 5 3  +  5 6 9  = 3 , 5 2 2

8) 7 , 3 8 7  +  3 , 8 8 7  = 1 1 , 2 7 4

9) 9 6  +  3  = 9 9

10) 7 4  +  4 3  = 1 1 7

2,109 5,859 916 11,274 99

182 134 117 391 3,522

1. 134

2. 182

3. 391

4. 916

5. 5,859

6. 2,109

7. 3,522

8. 11,274

9. 99

10. 117

     

Solve each problem.

Addition (Horizontal)
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1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1) 6 5  +  3 3  = 9 8

2) 1 3 2  +  3  = 1 3 5

3) 8 6 9  +  1 5  = 8 8 4

4) 5 5 4  +  2 4 8  = 8 0 2

5) 8 , 0 6 9  +  2  = 8 , 0 7 1

6) 3 , 7 7 7  +  3 8  = 3 , 8 1 5

7) 4 , 3 0 4  +  5 2 0  = 4 , 8 2 4

8) 6 , 4 4 2  +  1 , 8 2 0  = 8 , 2 6 2

9) 8 9  +  5  = 9 4

10) 5 5  +  5 4  = 1 0 9

11) 9 1 6  +  2  = 9 1 8

12) 6 3 1  +  7 7  = 7 0 8

1. 98

2. 135

3. 884

4. 802

5. 8,071

6. 3,815

7. 4,824

8. 8,262

9. 94

10. 109

11. 918

12. 708

     

Solve each problem.

Addition (Horizontal)
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1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1) 6 5  +  3 3  = 9 8

2) 1 3 2  +  3  = 1 3 5

3) 8 6 9  +  1 5  = 8 8 4

4) 5 5 4  +  2 4 8  = 8 0 2

5) 8 , 0 6 9  +  2  = 8 , 0 7 1

6) 3 , 7 7 7  +  3 8  = 3 , 8 1 5

7) 4 , 3 0 4  +  5 2 0  = 4 , 8 2 4

8) 6 , 4 4 2  +  1 , 8 2 0  = 8 , 2 6 2

9) 8 9  +  5  = 9 4

10) 5 5  +  5 4  = 1 0 9

11) 9 1 6  +  2  = 9 1 8

12) 6 3 1  +  7 7  = 7 0 8

1. 98

2. 135

3. 884

4. 802

5. 8,071

6. 3,815

7. 4,824

8. 8,262

9. 94

10. 109

11. 918

12. 708

     

Solve each problem.

Addition (Horizontal)
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Modified 1-10 90 80 70 60 50 40 30 20 10 0

1) 6 5  +  3 3  = 9 8

2) 1 3 2  +  3  = 1 3 5

3) 8 6 9  +  1 5  = 8 8 4

4) 5 5 4  +  2 4 8  = 8 0 2

5) 8 , 0 6 9  +  2  = 8 , 0 7 1

6) 3 , 7 7 7  +  3 8  = 3 , 8 1 5

7) 4 , 3 0 4  +  5 2 0  = 4 , 8 2 4

8) 6 , 4 4 2  +  1 , 8 2 0  = 8 , 2 6 2

9) 8 9  +  5  = 9 4

10) 5 5  +  5 4  = 1 0 9

135 8,262 8,071 4,824 3,815

109 94 98 884 802

1. 98

2. 135

3. 884

4. 802

5. 8,071

6. 3,815

7. 4,824

8. 8,262

9. 94

10. 109

     

Solve each problem.

Addition (Horizontal)
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1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1) 6 3  +  5 5  = 1 1 8

2) 5 9 3  +  7  = 6 0 0

3) 1 5 0  +  7 7  = 2 2 7

4) 7 8 1  +  7 6 0  = 1 , 5 4 1

5) 7 , 4 5 8  +  2  = 7 , 4 6 0

6) 2 , 1 6 4  +  5 2  = 2 , 2 1 6

7) 8 , 8 3 0  +  2 4 4  = 9 , 0 7 4

8) 5 , 5 5 2  +  4 , 1 6 9  = 9 , 7 2 1

9) 9 7  +  5  = 1 0 2

10) 6 5  +  6 0  = 1 2 5

11) 6 4 3  +  2  = 6 4 5

12) 2 5 8  +  2 1  = 2 7 9

1. 118

2. 600

3. 227

4. 1,541

5. 7,460

6. 2,216

7. 9,074

8. 9,721

9. 102

10. 125

11. 645

12. 279

     

Solve each problem.

Addition (Horizontal)
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1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1) 6 3  +  5 5  = 1 1 8

2) 5 9 3  +  7  = 6 0 0

3) 1 5 0  +  7 7  = 2 2 7

4) 7 8 1  +  7 6 0  = 1 , 5 4 1

5) 7 , 4 5 8  +  2  = 7 , 4 6 0

6) 2 , 1 6 4  +  5 2  = 2 , 2 1 6

7) 8 , 8 3 0  +  2 4 4  = 9 , 0 7 4

8) 5 , 5 5 2  +  4 , 1 6 9  = 9 , 7 2 1

9) 9 7  +  5  = 1 0 2

10) 6 5  +  6 0  = 1 2 5

11) 6 4 3  +  2  = 6 4 5

12) 2 5 8  +  2 1  = 2 7 9

1. 118

2. 600

3. 227

4. 1,541

5. 7,460

6. 2,216

7. 9,074

8. 9,721

9. 102

10. 125

11. 645

12. 279

     

Solve each problem.

Addition (Horizontal)
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Modified 1-10 90 80 70 60 50 40 30 20 10 0

1) 6 3  +  5 5  = 1 1 8

2) 5 9 3  +  7  = 6 0 0

3) 1 5 0  +  7 7  = 2 2 7

4) 7 8 1  +  7 6 0  = 1 , 5 4 1

5) 7 , 4 5 8  +  2  = 7 , 4 6 0

6) 2 , 1 6 4  +  5 2  = 2 , 2 1 6

7) 8 , 8 3 0  +  2 4 4  = 9 , 0 7 4

8) 5 , 5 5 2  +  4 , 1 6 9  = 9 , 7 2 1

9) 9 7  +  5  = 1 0 2

10) 6 5  +  6 0  = 1 2 5

9,074 125 227 118 9,721

7,460 1,541 600 2,216 102

1. 118

2. 600

3. 227

4. 1,541

5. 7,460

6. 2,216

7. 9,074

8. 9,721

9. 102

10. 125

     

Solve each problem.

Addition (Horizontal)
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1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1) 8 6  +  1 7  = 1 0 3

2) 5 5 3  +  1  = 5 5 4

3) 7 4 1  +  6 7  = 8 0 8

4) 4 9 1  +  1 2 1  = 6 1 2

5) 5 , 8 9 7  +  5  = 5 , 9 0 2

6) 9 , 2 5 0  +  7 8  = 9 , 3 2 8

7) 6 , 8 9 0  +  3 0 9  = 7 , 1 9 9

8) 6 , 6 0 3  +  1 , 0 0 3  = 7 , 6 0 6

9) 1 5  +  7  = 2 2

10) 8 9  +  5 0  = 1 3 9

11) 7 7 0  +  7  = 7 7 7

12) 1 6 4  +  7 8  = 2 4 2

1. 103

2. 554

3. 808

4. 612

5. 5,902

6. 9,328

7. 7,199

8. 7,606

9. 22

10. 139

11. 777

12. 242

     

Solve each problem.

Addition (Horizontal)

Math www.CommonCoreSheets.com

Name:

Answers

6



1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1) 8 6  +  1 7  = 1 0 3

2) 5 5 3  +  1  = 5 5 4

3) 7 4 1  +  6 7  = 8 0 8

4) 4 9 1  +  1 2 1  = 6 1 2

5) 5 , 8 9 7  +  5  = 5 , 9 0 2

6) 9 , 2 5 0  +  7 8  = 9 , 3 2 8

7) 6 , 8 9 0  +  3 0 9  = 7 , 1 9 9

8) 6 , 6 0 3  +  1 , 0 0 3  = 7 , 6 0 6

9) 1 5  +  7  = 2 2

10) 8 9  +  5 0  = 1 3 9

11) 7 7 0  +  7  = 7 7 7

12) 1 6 4  +  7 8  = 2 4 2

1. 103

2. 554

3. 808

4. 612

5. 5,902

6. 9,328

7. 7,199

8. 7,606

9. 22

10. 139

11. 777

12. 242

     

Solve each problem.

Addition (Horizontal)
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Modified 1-10 90 80 70 60 50 40 30 20 10 0

1) 8 6  +  1 7  = 1 0 3

2) 5 5 3  +  1  = 5 5 4

3) 7 4 1  +  6 7  = 8 0 8

4) 4 9 1  +  1 2 1  = 6 1 2

5) 5 , 8 9 7  +  5  = 5 , 9 0 2

6) 9 , 2 5 0  +  7 8  = 9 , 3 2 8

7) 6 , 8 9 0  +  3 0 9  = 7 , 1 9 9

8) 6 , 6 0 3  +  1 , 0 0 3  = 7 , 6 0 6

9) 1 5  +  7  = 2 2

10) 8 9  +  5 0  = 1 3 9

554 7,199 103 808 612

5,902 22 139 7,606 9,328

1. 103

2. 554

3. 808

4. 612

5. 5,902

6. 9,328

7. 7,199

8. 7,606

9. 22

10. 139

     

Solve each problem.

Addition (Horizontal)
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1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1) 3 6  +  2 8  = 6 4

2) 2 1 6  +  6  = 2 2 2

3) 1 6 7  +  2 1  = 1 8 8

4) 3 0 5  +  1 8 6  = 4 9 1

5) 6 , 8 3 8  +  3  = 6 , 8 4 1

6) 6 , 8 3 5  +  9 9  = 6 , 9 3 4

7) 2 , 4 7 7  +  8 7 2  = 3 , 3 4 9

8) 6 , 5 7 4  +  5 , 9 0 6  = 1 2 , 4 8 0

9) 9 9  +  1  = 1 0 0

10) 5 8  +  3 2  = 9 0

11) 6 7 9  +  9  = 6 8 8

12) 7 5 5  +  8 1  = 8 3 6

1. 64

2. 222

3. 188

4. 491

5. 6,841

6. 6,934

7. 3,349

8. 12,480

9. 100

10. 90

11. 688

12. 836

     

Solve each problem.

Addition (Horizontal)
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1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1) 3 6  +  2 8  = 6 4

2) 2 1 6  +  6  = 2 2 2

3) 1 6 7  +  2 1  = 1 8 8

4) 3 0 5  +  1 8 6  = 4 9 1

5) 6 , 8 3 8  +  3  = 6 , 8 4 1

6) 6 , 8 3 5  +  9 9  = 6 , 9 3 4

7) 2 , 4 7 7  +  8 7 2  = 3 , 3 4 9

8) 6 , 5 7 4  +  5 , 9 0 6  = 1 2 , 4 8 0

9) 9 9  +  1  = 1 0 0

10) 5 8  +  3 2  = 9 0

11) 6 7 9  +  9  = 6 8 8

12) 7 5 5  +  8 1  = 8 3 6

1. 64

2. 222

3. 188

4. 491

5. 6,841

6. 6,934

7. 3,349

8. 12,480

9. 100

10. 90

11. 688

12. 836

     

Solve each problem.

Addition (Horizontal)
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Modified 1-10 90 80 70 60 50 40 30 20 10 0

1) 3 6  +  2 8  = 6 4

2) 2 1 6  +  6  = 2 2 2

3) 1 6 7  +  2 1  = 1 8 8

4) 3 0 5  +  1 8 6  = 4 9 1

5) 6 , 8 3 8  +  3  = 6 , 8 4 1

6) 6 , 8 3 5  +  9 9  = 6 , 9 3 4

7) 2 , 4 7 7  +  8 7 2  = 3 , 3 4 9

8) 6 , 5 7 4  +  5 , 9 0 6  = 1 2 , 4 8 0

9) 9 9  +  1  = 1 0 0

10) 5 8  +  3 2  = 9 0

64 222 6,934 3,349 491

12,480 6,841 90 188 100

1. 64

2. 222

3. 188

4. 491

5. 6,841

6. 6,934

7. 3,349

8. 12,480

9. 100

10. 90

     

Solve each problem.

Addition (Horizontal)
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1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1) 5 9  +  2 6  = 8 5

2) 2 4 0  +  3  = 2 4 3

3) 9 2 3  +  6 4  = 9 8 7

4) 6 2 3  +  2 5 9  = 8 8 2

5) 3 , 0 7 1  +  8  = 3 , 0 7 9

6) 6 , 2 9 8  +  8 6  = 6 , 3 8 4

7) 3 , 5 1 0  +  2 9 4  = 3 , 8 0 4

8) 8 , 2 3 6  +  1 , 4 2 3  = 9 , 6 5 9

9) 8 3  +  6  = 8 9

10) 1 8  +  1 1  = 2 9

11) 3 5 9  +  5  = 3 6 4

12) 9 9 2  +  3 0  = 1 , 0 2 2

1. 85

2. 243

3. 987

4. 882

5. 3,079

6. 6,384

7. 3,804

8. 9,659

9. 89

10. 29

11. 364

12. 1,022

     

Solve each problem.

Addition (Horizontal)
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1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1) 5 9  +  2 6  = 8 5

2) 2 4 0  +  3  = 2 4 3

3) 9 2 3  +  6 4  = 9 8 7

4) 6 2 3  +  2 5 9  = 8 8 2

5) 3 , 0 7 1  +  8  = 3 , 0 7 9

6) 6 , 2 9 8  +  8 6  = 6 , 3 8 4

7) 3 , 5 1 0  +  2 9 4  = 3 , 8 0 4

8) 8 , 2 3 6  +  1 , 4 2 3  = 9 , 6 5 9

9) 8 3  +  6  = 8 9

10) 1 8  +  1 1  = 2 9

11) 3 5 9  +  5  = 3 6 4

12) 9 9 2  +  3 0  = 1 , 0 2 2

1. 85

2. 243

3. 987

4. 882

5. 3,079

6. 6,384

7. 3,804

8. 9,659

9. 89

10. 29

11. 364

12. 1,022

     

Solve each problem.

Addition (Horizontal)

Math www.CommonCoreSheets.com

Name:

Answers

8

Answer Key



Modified 1-10 90 80 70 60 50 40 30 20 10 0

1) 5 9  +  2 6  = 8 5

2) 2 4 0  +  3  = 2 4 3

3) 9 2 3  +  6 4  = 9 8 7

4) 6 2 3  +  2 5 9  = 8 8 2

5) 3 , 0 7 1  +  8  = 3 , 0 7 9

6) 6 , 2 9 8  +  8 6  = 6 , 3 8 4

7) 3 , 5 1 0  +  2 9 4  = 3 , 8 0 4

8) 8 , 2 3 6  +  1 , 4 2 3  = 9 , 6 5 9

9) 8 3  +  6  = 8 9

10) 1 8  +  1 1  = 2 9

987 9,659 243 29 882

6,384 89 3,079 3,804 85

1. 85

2. 243

3. 987

4. 882

5. 3,079

6. 6,384

7. 3,804

8. 9,659

9. 89

10. 29

     

Solve each problem.

Addition (Horizontal)
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1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1) 4 8  +  2 8  = 7 6

2) 6 1 9  +  7  = 6 2 6

3) 6 9 8  +  9 2  = 7 9 0

4) 6 9 2  +  2 6 7  = 9 5 9

5) 3 , 3 4 8  +  9  = 3 , 3 5 7

6) 4 , 6 8 6  +  5 5  = 4 , 7 4 1

7) 4 , 4 2 7  +  8 7 6  = 5 , 3 0 3

8) 6 , 6 3 3  +  5 , 1 5 3  = 1 1 , 7 8 6

9) 2 0  +  1  = 2 1

10) 8 1  +  4 9  = 1 3 0

11) 5 2 8  +  6  = 5 3 4

12) 3 7 3  +  9 8  = 4 7 1

1. 76

2. 626

3. 790

4. 959

5. 3,357

6. 4,741

7. 5,303

8. 11,786

9. 21

10. 130

11. 534

12. 471

     

Solve each problem.

Addition (Horizontal)
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1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1) 4 8  +  2 8  = 7 6

2) 6 1 9  +  7  = 6 2 6

3) 6 9 8  +  9 2  = 7 9 0

4) 6 9 2  +  2 6 7  = 9 5 9

5) 3 , 3 4 8  +  9  = 3 , 3 5 7

6) 4 , 6 8 6  +  5 5  = 4 , 7 4 1

7) 4 , 4 2 7  +  8 7 6  = 5 , 3 0 3

8) 6 , 6 3 3  +  5 , 1 5 3  = 1 1 , 7 8 6

9) 2 0  +  1  = 2 1

10) 8 1  +  4 9  = 1 3 0

11) 5 2 8  +  6  = 5 3 4

12) 3 7 3  +  9 8  = 4 7 1

1. 76

2. 626

3. 790

4. 959

5. 3,357

6. 4,741

7. 5,303

8. 11,786

9. 21

10. 130

11. 534

12. 471

     

Solve each problem.

Addition (Horizontal)
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Answer Key



Modified 1-10 90 80 70 60 50 40 30 20 10 0

1) 4 8  +  2 8  = 7 6

2) 6 1 9  +  7  = 6 2 6

3) 6 9 8  +  9 2  = 7 9 0

4) 6 9 2  +  2 6 7  = 9 5 9

5) 3 , 3 4 8  +  9  = 3 , 3 5 7

6) 4 , 6 8 6  +  5 5  = 4 , 7 4 1

7) 4 , 4 2 7  +  8 7 6  = 5 , 3 0 3

8) 6 , 6 3 3  +  5 , 1 5 3  = 1 1 , 7 8 6

9) 2 0  +  1  = 2 1

10) 8 1  +  4 9  = 1 3 0

3,357 21 11,786 5,303 959

790 130 76 626 4,741

1. 76

2. 626

3. 790

4. 959

5. 3,357

6. 4,741

7. 5,303

8. 11,786

9. 21

10. 130

     

Solve each problem.

Addition (Horizontal)
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1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1) 8 2  +  1 6  = 9 8

2) 6 3 7  +  9  = 6 4 6

3) 2 6 4  +  6 2  = 3 2 6

4) 9 9 0  +  6 9 4  = 1 , 6 8 4

5) 2 , 0 0 1  +  1  = 2 , 0 0 2

6) 8 , 8 3 4  +  1 5  = 8 , 8 4 9

7) 2 , 4 7 0  +  4 8 7  = 2 , 9 5 7

8) 6 , 5 6 2  +  3 , 7 3 0  = 1 0 , 2 9 2

9) 3 2  +  2  = 3 4

10) 3 4  +  2 6  = 6 0

11) 6 0 9  +  8  = 6 1 7

12) 4 1 5  +  4 2  = 4 5 7

1. 98

2. 646

3. 326

4. 1,684

5. 2,002

6. 8,849

7. 2,957

8. 10,292

9. 34

10. 60

11. 617

12. 457

     

Solve each problem.

Addition (Horizontal)
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Answers
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1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1) 8 2  +  1 6  = 9 8

2) 6 3 7  +  9  = 6 4 6

3) 2 6 4  +  6 2  = 3 2 6

4) 9 9 0  +  6 9 4  = 1 , 6 8 4

5) 2 , 0 0 1  +  1  = 2 , 0 0 2

6) 8 , 8 3 4  +  1 5  = 8 , 8 4 9

7) 2 , 4 7 0  +  4 8 7  = 2 , 9 5 7

8) 6 , 5 6 2  +  3 , 7 3 0  = 1 0 , 2 9 2

9) 3 2  +  2  = 3 4

10) 3 4  +  2 6  = 6 0

11) 6 0 9  +  8  = 6 1 7

12) 4 1 5  +  4 2  = 4 5 7

1. 98

2. 646

3. 326

4. 1,684

5. 2,002

6. 8,849

7. 2,957

8. 10,292

9. 34

10. 60

11. 617

12. 457

     

Solve each problem.

Addition (Horizontal)
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Answer Key



Modified 1-10 90 80 70 60 50 40 30 20 10 0

1) 8 2  +  1 6  = 9 8

2) 6 3 7  +  9  = 6 4 6

3) 2 6 4  +  6 2  = 3 2 6

4) 9 9 0  +  6 9 4  = 1 , 6 8 4

5) 2 , 0 0 1  +  1  = 2 , 0 0 2

6) 8 , 8 3 4  +  1 5  = 8 , 8 4 9

7) 2 , 4 7 0  +  4 8 7  = 2 , 9 5 7

8) 6 , 5 6 2  +  3 , 7 3 0  = 1 0 , 2 9 2

9) 3 2  +  2  = 3 4

10) 3 4  +  2 6  = 6 0

2,957 8,849 2,002 646 326

98 10,292 60 1,684 34

1. 98

2. 646

3. 326

4. 1,684

5. 2,002

6. 8,849

7. 2,957

8. 10,292

9. 34

10. 60

     

Solve each problem.

Addition (Horizontal)
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